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1.

i 3.

Complete the series : 1.
7,14,11,22,17,34,7?
(A) 39
(B) 20
(C) 28
@) 27 X
(E) Not atterrgtked
®

O

Six faces of cuﬂ are painted red, blue, and green, | 2.

in a manner that no two adjacent faces have the
same colour. The cube is then cut into 64 smaller

cubes. How many cubes have only one face
colouredred 2 &

(A) 24 =
®) 8 ©
© 6 0
® 10 N sym
(E) Not attempted .

A piece of paper is folded and cut as shown in the|3.

Question Figures. From the given Answer Figures,
indicate how it will appear when opened.
Question Figures :

K

Answer Figur:ﬁ‘:
e
(A) ®
O

o @

(E) Not attempted

GET IT ON
A Google Play

e g1
7,14, 11,22, 17,34, ?
(A) 39

(B) 20

(C) 28

(D) 27

(E) 30T e &1 =med

Qo)
B4

o % BT Bereh! 1 o, A, oM E i F g
T TR <hiS ¥t 1 SITE et o o
o0 o1 T 64 S =T F 1er 777 | iRy = f Sy
ek eleh AT TTHT R 9

A) 24

(B) 8

€ 6

(D) 10

(E) I ar=meq

UF FITH & gohs I I Mpfer & fane srmm
TS S 12T 1T ¥ | € 77E IeR e F seeu
EleH 9T IE 41 fmmd 2 )

9T HTHTaAT ©

o) K g
I GITW -

(A) @
(B) @
© @
(D) @

(E) SW A& Smamy
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The “Surya Grahan Mela” (Solar Eclipse Fair) is a|4.

unique and significant event specifically held in
which pilgrimage site in Haryana when a solar
eclipse occurs ?

(A) Bhishma Kund, Kurukshetra

(B) Sheikh Chilli’s Tomb, Kurukshetra

(C) Jyotisar, Kurukshetra

(D) Brahma Sarovar, Kurukshetra

(E) Not attempted

Which temple in Thanesar served as a prominent |5.

religious site during the

Harshavardhana ?

reign of King

(A) Amin Bhadrakali Temple

(B) Sthaneshwara Mahadev Teﬁlple |
(C) Vishvamitra Ka Tila Temple

(D) Pashupatinatha Temple

(E) Not attempted - |

Ei#E
e

Which of the following statements is correct|6.

regarding recent infrastructure developments in
Haryana ?

(A) The Eastern Peripheral Expressway passes
through the city of Hisar.

- (B) Rakhigarhi is located on the left bank of
Palaeo-Channel of Drishadvati,

(C) Haryana Right to Service Act was passed in
2016.

(D) National Highway 152D connects Ambala
and Narnaul.

(E) Not attempted

GET IT ON
Google Play

‘@WW’@WWWW%%
ferdir = & = 3 fe el worer o aet oo ey
T ST e st 2 2

(A) ™o %3, Fwam

(B) W@ forceft o weher, o

(C) waferem, Fwam

(D) & TR, FHE

(E) I & 31 9meay (,‘
2 =y
I (OB

O
TG S -8T T T S 6 AITahret o I
T oTfifeh Tt % 9 5 1 AT o7 2

(fx) ST gl HieT

(B) TS HEIed Wit

(C) Toranfir = drem wisT

© TR B
e

(E) ST aAT =med g[;
el
o0
N

SO 8T 3 AT Gt (ST ¥ e 3

ey & feferfiad § & -1 e T @ 2

(A) et At e G et & S e
.y L

(B) u@nﬁgﬁiﬁﬁgﬂ-ﬁﬁ‘%mﬁmwf@ﬁ%'

(Cy” gaom e b rRrrfET 2016 F @
forar T o @

(D) T Tt 152@%@ 3 A F
Ssars |
(BE) ST & <A1 =R
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7. Abucketis initially filled to 3/8 of its capacity with
water. Then, 1/2 of the water currently in the
bucket is poured out. After this, water equivalent
to 1/4 of the bucket’s total capacity is added.
Finally, 1/3 of the new total volume of water in the
bucket is poured Out.

What fraction 6ﬂ the original bucket’s total
capacity is still ﬁﬁéd with water ?

(A) 724 < (B) 7/16

(C) 7/48 @ (D) 8/42

(E) Not attempted

8. Imagine you ha\?é} three identical cube-shaped
containers, each with an edge length of 10 cm.
These three cubes are stacked one directly on top
of the other, forming a single tower. What is the
outside surface area of this structure ?

(B) 1800 cm2
(D) 1500 cm”

0
(A) 1550 cm2 )

© 1700 em? o3,
(E) Not attemp%
9.  Which one of the following pairs of international
organizations and their headquarters is
incorrect ?
(A) UN-—New York, USA
(B) FAO - Rome, Italy
(C) TAEA — Tht Hague, Netherlands
(D) UNESCO £ Paris, France

7.

GET IT ON
Google Play

e AT 1 Y H IR & 3/8 0 e gy
s & | foR, et 3 S T 12 ey g
FrapTet foa Il @ | $66F A, AR ) e gy 3
1/4 3 SO G ST ST @ | 300, A i v
Tt oY 78 oot WA T 1/3 TR T ey |
T S T A &l BT T T ST o o &
TR ?

(A) 7/24 B) 7/16
(C) 7/48 (D) 8/42 =m
(E) I &1 =&t i

FeT T R 31T 9T 19 TehEHT SHTRR et
¥ i @ vl & R Y @S 10 em @ | 39
FAT Y T 3 YT T T Th TS ST T @ | 56
TCEAT 1 SITed) Tt &l 1 8 2

2. 1¥ 2
(A) 1550 cm (B) 1800 cm

2
(©) 1700 cm’ () 1500 cm

(E) IEl 31 =med

Frrferfas 3 & st Gt 3 3 TeTer
HHA-ATTHTATATR ?

(A) HIH T (UN) — =Tk, 6.3, ST

(B) THTSAI (FAO) - T, et

(C) ST (IAEA) — = &7, frewetgw

(D) ZIEh (UNESCO) — I, whi|

o 043 (E) W= < amed
(E) Not attempied B
CAT
10. The original In@#n Constitution had 10. S W dioum § Wy i &
"Fundamental Kihts while it presently has| e S o g s s |
: Fund entalRing. @) 7,8 @67 ()87 (D) 7:6
@ 7,8 ®67 © 87 M7;6 (B) SWAE T =Rd
(E) Not attempted ’
= = i i . WﬁLCM(ab)=343ﬂ{H _ %aﬁ
11. IFLCM (a,b) = 84 and HCF (a, b) = 7, which pair| I1 ’ CF (a,b) = 7%
is possible as values of aand b ? W—ﬁg’ﬂ?ﬁaaﬂtb%mﬁ%maﬁwg?
(A) 7and 12 (B) 28and42 (A) 7312 ® 28 it 4
©) 14 and 21 (D) 21and28 (C) 143K 21 D) 21 3 28
® Not attempted (B) ST =y
/ +4+ —
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12. In a certain code, “TEACHER” is written as|12. U fifea e &, “TEACHER" = “VGCEIGT” %
“VGCEJGT”. How would “DULLARD” be w95 fomar s g T %2 F “DULLARD" =1 freg
written in the same code ? TehT fora st 9
(A) FWNNCTF (A) FWNNCTF (]

(B) FWNNCRE (B) FWNNCRE ()
(C) FWNNBTE (C) FWNNBTE 22
(D) FWNNCSF By (D) FWNNCSF  1¢
(E) Not attempted GRY (E) 39T &7 =mdd)
O
13. The Kingdom of Ballabhgarh was annexed by the|13. 185?%%%3!3%9{3@%@“
British after the Indian Rebellion of 1857. Who el T foram o | gEeRT faw e 5 o1 9
was its last ruler ? ) TR ' (B) srewm fig
(A) Nahar Singh (B) Balram Singh (C) 3rsfia fiie (D) T fifz
(C) Ajit Singh (D) Gopal Singh (E) mqﬁém?n?%
(E) Not attempted O
14.  Select the combination of numbers so that letters |14. TEARAN ¥ TISH S5 TFT Fifse s RERLLRN
arranged accordingly will form a meaningful word.| - =xaftuq TR U Hﬂ% o8 ST HF |
S
N||R||O|]|C]||T||A N|IR||[O||c||T]|]|A
. . re I
1 2 3 e 3 6 1 2 3 4 5 6
(A) 162435 (A) 162435
(B) 652314 (B) 652314 Q
©) 235461 (C) 235461 O
?;)) Nztzatsteinlpted ¥l RSS2 51 N SHE
(E) wq‘a"f%‘mm% R

15. You are facing the rising sun early moming. You|15. mgag-wwﬁ%aﬁ @tﬁsﬁ@%% S
turn 90° clockwise, then 45° anti-clockwise. Which 90° gfeToTrard, Rt 459 E[flﬁ & | o o
direction are you facing now ? e s e F @S e ?

(A) South-East (A) aftorgd
(B) East (B) @&
(C) South - (C) afdqr
(D) South-West (D) fEorafyes
(E) Not attempted (E) STl S amey
- N
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16. What does the acronym “MIME” stand for in the | 16.
context of email ?
(A) Mobile Integrated Mail Encapsulation \
(B) Microsoft Internet Messaging Environment
(C) Mail Internet Mes;hge Extension
(D) Multipurpose Intergstit Mail Extensions
(E) Not attempted Q-

!
W

17. Which of the folloxw'ing(%latemems about units of[17.
data storage is/are corréét)?
I. 1 Gigabyte (GB) is’grnaller than 1 Terabyte

(TB).

II. 1 Kilobit (Kb) is equal to 1024 bits.
III. 1 Megabit (Mb) is 1/8th of 1 Megabyte (MB).
Options :
(A) Tonly
(B) IandII only
(C) 1andIII only

(D) 11 and III only g@
(E) Not attempted Bt

0@x2%0O0

18. The ‘Chaudhary BansiQal Cricket Stadium’ is|18.

located in which city of Haryana ?

(A) Gurugram

(B) Faridabad

(C) Lahli O

(D) Panchkula O

(E) Not attempted aﬁ
&

19.
which of the following {s pot one of the five natural
geographical divisions &P]Haryana ?

(A) Aravalli Range

(B) Yamuna-Ghaggar Plain

(C) Shiwalik Hills '
(D) Bundelkhand Plateau

(E) Not attempted

mm—

As per the official H@}ma Government portal, | 19.

A GET ITON
Google Play

gﬁa%éﬁﬁ“MlME"ﬂWﬂﬁ%?
(A) mﬁﬁ@%m@?ﬁ

T/ e R R/E ?
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11, 1 ®feie (Mb), 1 FrraTEe (MB) T 1/8a1 0
gl

e :

(A) F

(B) a1 31

(C)-Faet 1 3L

(D) e I A

(E) SCAE &1 =Ted

c<hertt st et T e g & fora TRt
R ?

(Ay eI

(B) @R

(C) =t

(D) d=Fgar

®) A TR 5
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(A) TS wEanTer

(B TR AT

(©) Tranfers yaifet

(D) Heerds yar

(E) Wqﬁhm
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20. What percentage of Haryana's geographical area is|

21.

22,

23,

covered by the Protected Area network (National
Parks, Wildlife
Reserves) ?

(A) 1'1%

(B) 0-62%

(C) 0-75%

(D) 0-34%

(E) Not attempted

Sanctuaries, Conservation

Identify the correct pair of indigenous cattle breeds | 21.

that originated in Haryana :

(A) Sahiwal cow and Banni buffalo

(B) Tharparkar cow and Mehsana buffalo
(C) Hariana cow and Murrah buffalo

(D) Gir cow and Jaffarabadi buffalo

(E) Not attempted

Under Haryana’s Parivar Pehchan Patra (PPP)|22.

system, wkich of the following statements is
correct ?
(A) Temporary IDs are for migrant workers only.
(B) PPP is mandatory for all residents.
(C) Families outside Haryana get a 9-digit ID
starting with letter “T".
(D) Only Haryana residents get a Family ID.
(E) Not attempted
jB]
=

The decline in the population of which bird species | 23.

in Haryana (and across India) is a significant
environmental concern, largely attributed to the
use of Diclofenac in veterinary medicine ?

(A) Peacocks

(B) Cranes

(C) Vultures

(D) Sparrows
(E) Not attempted

20,

GET ITON
A Google Play

m%ﬁﬁ%ﬁéﬂwﬁﬁmwﬁmﬁm%ﬁ
m("‘?ﬂﬂm.a:rsﬁamm,mmm]
EREESED oI s
(A) 11%
(B) 0:62%
© 0715%
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=
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™
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(B) I ar=med
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E&qwn(aﬂtcgmtéf%ﬁmqgﬁwﬁfﬁmﬁmﬁ
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24. Which of the following statements is correct|24.
regarding the history of painting in Haryana ?

(A) The earliest artistic expressions in Haryana
were discovered at the Siswal site, featuring
designs painted o\njcarthenwarc in black and

O
The Rang MahaLin Pinjore is decorated with

white.

(B)
wall paintings ‘created by British artists
during colonial t }LS

(C) The Bhadrakali t jple in Kurukshetra lacks

any form of frescocs or murals.

(D) The ‘Asthal Bohar’ paintings are not found in
Panchkula and Pinjore.
(E) Not attempted C mgE
e

25. The town of Kaitha{jn Haryana is historically | 25.

linked with which fa@ls female warrior ?
. o

(A) Razia Sultana ©
(B) Rani Lakshmi B

(C) Begum Hazrat 1\{55131
(D) Rani Avantibai <]

(E) Not attempted

revised honorarium for the “Yuva 26.
by the Haryana

What is the
Lekhak Samman Pm@car’ given
Sahitya Akademi? O

=}

26.

<fron i fepreren 3 gfrere o et Pt 3 6

P T TN ? o
(A) e & TR g e s 6
et fermaer wrez A S o, Fvet e 3
et it firdh 3 ard  Fafora e 11
(B) ﬁﬁtﬁmmaﬂqﬁ%ﬁﬁm%m%ﬁﬂ
mﬁmmmﬁuﬁﬁﬁ@mﬂ%l
(©) @aﬁaﬁweﬁﬁﬁtﬁﬁsﬁsﬂm%
fufaerit (et T woet 1 ST € |
(D)t i fis # arerer drer 9T A
et 1
(E) TR & =ed
28
afeon &1 Sue e A w9 ¥ fra g
e dveT & a8 2
(A) Usrm g
(B) T T =R
(C) T &SI A
(D) T St
(E) T AT AT ATEd g%ﬂ
2¢
gf(qwmﬁamnﬁmﬁwﬁa@ a1
T T o T AT FE 2
(A) T1,00,000
(B) 25,000
(C) T50,000
(D) £75,000
(E) T 1 <

®|

(‘B) f25,000 @
(©) £ 50,000 O
D) f75,000 4
() Not attemp'®®
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27.  Which of the following statements about email|27. ¥ wgaw ¥ =it # Frstferfiag o & 3 Y U
addresses is/are incorrect ? Tera &/8 2 )
I.  An email address must contain an ‘@’ I. ﬁ?’lt"%ﬁﬁ ‘@ Forg sTava g i |
symbol. 1. 3 3w Fa-dfata a2 (3 % P
II.  An email address is case-sensitive (¢.g., John@example.com, john@example.com &
John@example.com is different from FHATE) |
john@example.com). 111, S8t 3 “To” res & Faet vF Wl & g
[II. There can only be one recipient in the “To” 2
field of an email. freeT :
Options : (A) I, 13RI
(A) I,1I and III (B) FHae 1
(B) Tonly (C) Faer 1 3 )
(C) Iand Il only (D) e 11 31 @
(D) T and III only ) SR O By
(E) Not attempted {> OEL]
©)
{ 5 % s
28. Which feature in Excel allows you to set rules for|28. e § HH-&T gl AT &l F IR T F
how cells are formatted based on  their IR T Ez 0 ¥ fou ey fuife &3 #
values ? 3-13"-'[% L
(A) Format Painter (A) BT
(B) Conditional Formatting (B) HEHA BHET
(C) Cell Styles (C) T Ve 8
(D) Number Formatting (D) e HHfeT e
L . = o"
(E) Not attempted %ﬁ. (E) I Tl < <Ied $
©)
© ; quia LT
29, Which of the following describes a “hyperlink” ? |29. freferfaa & & @H-a1 “E!Tﬂl%ﬁ "
| . 22
(A) Data stored on your computer by a website . .
_ (A) Rreft Saraee g ST gt T S
(B) Software used to = block ' pop-up (B) H-377 Rt A s O ¥ foQ Wa
advertisements AR Q
(C) A clickable object that takes you to another (C) T P FA A sffedrae < aTTaeh fohe!
web resource : 3o e WX & St -?39
(D) A program used to secure online transactions (D) AT - F g@m FA & faC ERR Il
(E) Not attempted fepat ST Tt T iu)l
(E) IR e &1 =med 4
__F.—-__-_____--"—
D + 9+
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30.

31.

32.

33.

34.

35.

integers such that || 30

If ‘a’> and ‘b’ are positive
2 2
a —b =31, then what is the value of a X b i

(A) 246 (@) 128 (C)321 (D) 240
(E) Not attempted

From a point A on the ground, fhe angle of|3L
elevation to the top of a vertical tower is 30°, From
a point B, which is 50 metres closer to the base of
the tower from point A, the angle of clevation to

of

the top of the tower is 60°. What is the height
the tower (in _;_hglrcs) ?
(A) 503 m< (B) 50m
(©) 253 ' (D) 25m
/3 & By
(E) Not atteﬁ'li?ned (o2
{ }

A
A solid mcta]\-iube of side 14 cm is melted and 2.

recast into smaller spheres of radius 1 cm. How
many such spheres can be formed ?

(A) 655 (B) 535 (C) 612 (D) 724
(E) Not attcr\xjfrted
1 - s (1Y
Ifx+'—=2,tgenx +|T] = 33.
X E"" X
(A) 3 @® 0 (©) 6 D) 2
(E) Not atte@;ted
O
Arun’s sélary,jg 95% more than Bishnoi’s. Charan|34.

earns 40% less than Arun. Deepak eamns 30% more

than Bishnoi.

By how much is Deepak’s salary more than
Charan’s ? )
(A) 6667%C)
(C) 6225%3°
(E) Not atteimpted

(B) 53:33%
(D) 73:33%

_qﬁ‘a'aﬁt'b*mqgﬁ%

GET IT ON

Google Play

A

3 fyma f&

36

2 23y, daxbAARFNE?
(A) 246 (B) 128 () 32
(E) et ¢ 2T =T
s 0w g A H, T

= AT 30° B | T o
UL 50 HiT aqﬁmﬁw%rﬁm%vﬁéwmﬂ

FT 60° & |rﬂqﬂﬁm(ﬂaﬁ)w%?

(D) 240

(A) 50ﬁm (B) 50m
© 253 m (D) 25m
(B) I A EEd al¥o)
mEa

14%@31%@?3%[@%5%#%@
1%ﬁﬁwaﬁéﬁﬁ@maﬁ%tﬁﬁmﬁﬁﬁ
ST T FRA © 2
(A) 655 (B) 535 (C) 612 (D) 724
(E) AT AT R

1 s (1Y
ﬂﬁx+-=2,€[x +l1— =

X x
(A) 5 ®B) 0 ©) 6 (D) 2
(B) ST & =T

760 T o TergTs & da 9 25% afirs & | =0T
azw@rm%mm%lm.ﬁﬁéa 30% 311

FACIE |
z.“tﬁwraaqawé;am%%amaﬁm%?

(A) 6667% (B) 53:33%
(C) 62:25% (D) 73:33%
(E) IeRAEl AT AR

63@““3331‘750%@91‘1%1@?3?3@'7

_ : 35.
The averagé Q’}‘gm- of's baysia i l;g' 2/“: T’:’ sy anfiret 2y & v T S 4% 5 S @ 17
joins and the2g¥ ave;ai;ﬂ:i:a;ez zlcm:SB: ;}; 3 o gt we W WS & S & SR v
an 8th boy joims &% © k)of.the e | e o ST | 83 e o 2 (R
| kg, What is the weight (X5 . ' 7
57 (B) 60 (C) 62 P) » (A) 57 (B) 60 (C) 62 (D) 56
(A) - (E) ST AT A&
ttempte
) Not ateftP +10+ S
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36. Which of the following diagrams represents the |36. ﬁ'ﬂﬁﬁf@ﬂﬁﬁﬁq—maﬁ@ﬁqm Y 3
relationship among Beverages, Coffee and Soft freren) T 3 sy v zmiar @ 0 ' S

(Cold) drinks ?
(A)
(A)
o ¥
(B)
®) OOO O ;,;’
° @
O
&6 (D) @O
( (E) 3T el &1 =Imed <
(E) Not attempted
EyE

37. In the following question, find out which of the|37. Frafafaa we7 &, Fma SHifs fF ot st (A),
Answer Figures (A), (B), (C) and (D) completes (B), (C) 3 (D) & & F-Ht ATFHT IHTqE H T

the figure matrix. FEAT R 8
<O
| ;‘E o|o ’ ;‘E o’o
o|o o|o @{3
o OO
<> ® o\ C <8> o\ S
- DICRD| ? C - ) | C rd ?
\J \J \J \J
Answer Figures : I T
@A) | oo (B) 8 @) | oNo @) | _@
%35) N %39 O |®
X
it
© @%@ (D) g © |._p @ | .0
(1N (%)) (@)}
& O [C
(E) Not attempted (E) ST <1 98 <|

D +11+
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38. Which architectural style does the Sun Temple at ‘ | 38.
Modhera represent ?

(A) Indo-Islamic ||
(B) Dravidian |
(C) Mam-Gurjnm

(D) Kalinga

(E) Not attempted

3
o

39.
classify climates in

classification ?

(A) Wind

(C) Vegetation

(E) Not attempted

the Koppen climate

(B) Moisture
(D) Temperature

40.

wet and dry (savanna) climate ?

(A) Shillong (B) Srinagar
(C) Bengaluru (D) Shimla
(E) Not attempted |

41,
is primarily from which Indian state ?
(A) Haryana
(B) Assam
(C) Manipur
(D) West Bengal
(E) Not attempted

42,

2023, which of the following activities is
prohibited when processing of digital personal data
of children under the age of 18 years ?

(A) Collecting personal data with parental
consent

(B) Tracking or behavioural monitoring of
children

(©) Providing educational content online
(D) Storing children’s data in encrypted form

(E) Not attemptcd

Which of the following is mor a factor used to|39,

Which of the following Indian cities has a tropical | 40.

The “Chhau” dance, with martial and tribal origins, | 41.

Under the Digital Personal Data Protection Act, |42.

w1 g wf o e St F weRid
27

(A) 3=

(B) 3 o
(C) AT ( )
(D) feT 3R
(E) IR 14 o

T

I STy i | wﬂqlgﬁ arfighd &t o fag
frafafias & Fm-u7 Fw Suam 781 B s
29 <]

(A) B (B) SATEan
(C) Tmafq (D) ATIH

(E) €&l &A1 9med
Frtafea & & fra vyl wex § swmfesdr o

3N Y () e ® 2

(A) freri (B) *fiwme

(©) e (D) fymra

(B) SRl < 9ed r‘\
Wmﬁhmaﬂtaﬁaﬁrﬂgw T TA
g@mﬁﬁwm?ﬂamﬁ@

(A) ghamm O

(B) 3mH

(C) aAfTR q

(D) 9f¥=w s o
(E) STCHE AT 9 %

fefsre safvwma S weeror sifuffram, 2023 % %,
18 I | W ITTY % =l & fehea AfpTa 2 H

meﬁnﬁrﬁa@iﬁaﬁqmnﬁﬁﬁl
g g2 =R

(A) TR i wenfa & sutiTa Tt e F
(B) aﬁﬁaﬁ?%ﬁmm?@ﬁm

(O RUGERILPIEIERIES

(D A=l or S T e e

(E) o & e

B
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43.

44.

45,

Consider the following statements : 43,

[. Haryana covers 2:34% of the geographical
area of India. '

[I. The government has legalized the shooting of
female Nilgais.

1I. Lantana camara pose a significant threat to
the Haryana forest ecosystems.

Which of the above statements is/are correct ?

(B) III only

(D) I, ITand 111

(A) IandIIl only
(C) I and III only
(E) Not attempted

Which of the following pairs of institutions and |44.

their locations is inncorrect ?

(A) Indian Agricultural — Panchkula
Research Institute (IARI)

(B) Indian Institute of — Rohtak
Management (IIM)

(C) Central Institute for — Hisar
Research on Buffaloes
(CIRB)

(D) National Dairy Research — Kamal
Institute (NDRI)

EyE
(E) Not attempted B

Which of the following statements about the|45.

Mukhyamantri Bagwani Bima Yojana (MBBY) in
Haryana are correct ?

I The scheme covers 46 horticultural crops.

Il. Premium is T 750/acre for vegetables/spices.

II. Maximum compensation is ¥ 15,000/acre for
vegetables/spices.

Options :

(A) I, land III

(C) Iand 1l only

(E) Not attempted

(B) IandIIl only
(D) II and I1I only

GET ITON
A Google Play

Frafafaa ot w e fifso -

1. o yra 2 imiferes & 1 2-349, sy S
2

II. W#WWTWWWW%W
e

Il ﬁzm%mnzﬁmmmmﬁ%ﬁﬁmmfm
U WEw U @ E | V£

Wﬁamm@wwﬁ’g

(A) Faet [ A (B) 10

(C) aaet 11 3 11 (D) LT3 111

(E) R el &1 9ed By

BEL)

frferiaa o & GeaTi ST e T A HH-81 W
TAd = ?

(A) VT P9 ST FEA =
(STETITRTTS) .
(B) T WaieT §eam }3] - TEw
(STEITSTH) =
"\,
(C) i e FATHU G &% - R
GIEIEEIC)) ®

(D) TS h IR ER ()~ Fa
Ll <
(E) TR A&l &A1 9med

o & et saT ST i () &
an & frferfiaa # & 98 A 7 € 2

L W?ﬁmﬁ%amamwa‘i]aﬁm&:aﬁm
TR |

I Hﬁaﬁmﬁ%mmﬁm&\gm@%!
111 gfEimae & fae a@mu 3T

% 15,000/THS B | @
e : C
(A) I, 13RI (B) Fac] 13RI
(C) et 13RI (D) et 11 LI
(E) S e AT |med
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46. Which author from Haryana won the Sahitya|46.

Akademi Award for work in Haryanvi language in
1990 for his poetry collection titled “Bire Da
Viyah” ?

(A) Jasbir Singh

(B) Uday Bhahu Hans

(C) Mewa Ram Gaur

(D) Gopi Chand Narang =y

(E) Not atteitipted mh

47.  Consider the following statements : 47.

I. The first nuclear power plant in North India
is being biilt in the Hisar district of Haryana.
II. The Hary‘ﬁna government has removed the
age limit for the ‘Mukhyamantri Kisan Evam
Khetihar Mazdoor Jeevan Suraksha Yojana’.

I11. The 3rd edition of the Saras Aajeevika Mela
was held in Gurugram.

Which of the(a!iove statements are correct ?
(A) Iand II ?nl}y

(B) Iand Ill.only

(C) I, 1 and I

(D) 1 and H@Ply

(E) Not attexe%ted

o~
48. In 2022, Har,{ra[!la ranked
Indian states in the Export Preparedness Index.
(A) 2nd
(B) 5th
(C) 4th
(D) 8th
(E) Not attem’ﬁJed

O

among | 48.

What is th‘éﬁ current number of reserved 49.

1990 & 313 e drg i aT sATE” 3 FeTe BRI

e it e SrepE TR Sffa AT BT 50,

Y7

(A) sl i

(B) 3%V &

(C) FETTM S

(D) T =g AT

(E) TR & 31 =med

Frefafas wuEt w em fit

I IO MR F IR G el G eRAT %
SRR EC IR R R

11 - wfemm s A e o v e as
Sfiem gean dreAr % foq sy dm e iR |

TIL. & i ot 1 dre S T §
T feram T 9 |

S 3 & PR e 3

(A) et 1 RIL

(B) a1 AL

(C) L, 13RI

(D) Faet 1 SR 11

51

() T e

2022 %, Frarte St grerien & ehaom R T
 EWr|

(A) T

(B) 54

(C) =

(D) 84

(B) SO e 3 =

o fayer w  arfe e (@) % fere

® constituenciesifor Scheduled Castes (SCs) in the o et A e s Rt €2
Haryana Vidhi®)Sabha ? (A) 20 (B) 15
(A) 20 O ®) 15 (©) 17 (D) 2
© 17 g ®2 (E) IXET AT amed

(E) Not attempted

e
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50. Which among the following is not a Constitutional | 50. Frafafaa & & - sfan o5 8 s adats

Body in the state of Haryana ? [EEIRE ik
(A) Haryana Human Rights Commission (A) =i arETfeERT s
(B) Haryana Public Service Commission (B) =i =i e S
(C) State Election Commission (C) TSI = S

:- (D) State Finance Commission (D) = fore stram

4 (E) Not attempted (E) I &l &1 =med

| 51. Under the Haryana Budget 2025 — 26, how much|5l. TR0 &SIE 2025 — 26 % TEd, TS AeHl TS &
amount has been allocated for women’s welfare qed afeesh & Feam # foe et ofyr sefea 4

under the Lado Lakshmi Yojana ? TER? C)

(A) % 3,000 crore ‘ (A) T 3,06;5;?&3
(B) 4,000 crore (B) T 4,003’ S -
(C) 5,000 crore © % 5,0( FUS
(D) %6,000 crore mym ' (D) %6,00 FS
(E) Not attempted mxh (E) M TR

52. The ‘Pinjore Gardens’ (Yadavindra Gardens) in|52. o i Rt TS (arefms MéA) e aregEe
Haryana are an excellent example of which Yt T SehE ISTET 22

architectural style ? (A) WWW
(A) Mughal garden architecture (B) ﬁ_wa@m :
(B) Indo-Saracenic architecture (©) m@qﬁa‘ﬁ'ﬁ;a‘w
(C) British colonial architecture (D) T et
(D) Rajput architecture (E) SHCAE T
(E) Not attempted ; ( .
53. Which of the following Parks/Santuaries in|53. g & T ¥ R STFRNERT
Haryana is a Ramsar site ? IR WA= ?
(A) Sultanpur National Park (A) AU IaH
(B) Nahar Wildlife Sanctuary (B) TR =ila AT -
(C) Abubshahar Wildlife Sanctuary © m@{%qﬂsﬂaw
(D) Kalesar National Park _ (D) W‘H’E@I@m gg
(E) Not attempted (E) SWHE T =TEd
54, Which Article of the Indian Constitution facilitated| 54. ST ¥ for 31 X Ehe 1 T T
the creation of Haryana as a separate state ? [T R EIH i w6 ?
(A) Article 239 (A) 39
(B) Aticle 371 % (B) =< 371
(©) Article 1 @ =t
(D) Article 3 (D) W >
- (B) SOCE T =med
(E) Not attempted R

D +15+
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56.

a7.

58.

59.

IFREAD is coded as 94 (18 x 5+ 1 x 4), how will | 55.

MATH be coded ?
(A) 160
(B) 165
©) 173
(D) 156

(E) Not attempted

A certain number, when divided by 15, 20, or 25.|56.

always leaves a remainder of 8. What is the

smallest such number that is also greater than
5007

(A) 592 {1 (B) 608
(C) 612 () (D) 615
(E) Not attempted ==
Find the odd one out 4. 57.
(A) Mirror ©
(B) Window Q
(C) Prism C:j
(D) Lens ‘-E'%C:‘
(E) Not attempted i
Find the odd one out ¢ ) 58
(A) 371 ) B) 417
(C) 153 =2 (D) 370
(E) Notattempted {7
@

Four individuals — P,%l:: and S — are suspects in|59.

a theft case. They make
P says : “Q is guilty.”
Q says : “R is guilty.”
R says: “Pis imoce%ﬁ,
S says : “I am innoce

2 own that exaq‘;
oy e gy peso e el et e
the truth), then who 1@1: guilty 0

(A)S (B) P O(C)R ,(D)Q
(E) Not aﬁemplﬁd 4

e following statements :

one of them is guilty, and

GET ITON
A Google Play

1

afe READ &1 94 (18 x 5+ | x 4) & &9 # #ify
fopr ST 2, 9 MATH 31 3% ahifed feram Smam 2

(A) 160
(B) 165
(©) 173
(D) 156 myE
(E) 3 &t 21 =medt B

s fafvera g =1 15, 20, 71 25 § farnfem FE ®
TR § I ==t 2 | UH el S g B g S
5008 a2 2

(A) 592
(C) 612
(E) St 3 wmed

o g A

(A) Tdor

(B) fasehit

(C) foom

(D) ©®

(B) SOEE 1 9Ted

(B) 608
(D) 615

. o s il -

(A) 371
(C) 153
(E) SWAE AT =R

B) 417
(D) 370

TR =fE — P, Q, R 31 S — IR & U At & Gfewy
13 fefafaa s wed €

PHEATR: “QaI g "

Q#FBaTe : “RAMI & "

RFEaT e “P R

SwEar e : <8 R 1

af2 7g 7@ & fF 0 ¥ arca § v 9 < ® 3T
Wwwﬁﬁ@m%m‘ﬂﬁﬁwﬁnﬁa‘\aﬂ
T, AR RAR?
(A) 8 (B) P
(E) SO ALl 1 =TRd

©)R D Q
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60. A factory uses three machines (A, B and C) to
produce a specialized type of widget.
Machines A and B working together can produce
100 widgets in 4 hours.
Machines B and C working together can produce
100 widgets in 5 hours.
Machines A and C working together can produce
100 widgets in 2:5 hours.
If Machine A were to work alone, how long would
it take it to produce 100 widgets ?
(A) 16/3 hours
(B) 5 hours
(C) 40/9 hours
(D) 45 hours
(E) Not attempted gﬁ%
61. If5@1=60; 12 @ 8=200; 16 @ 2 = 180; then
what is the value of 16 @ 10 =?
(A) 260
(B) 10
(©) 32
D) 9
(E) Not attempted
62. A cube has six different symbols drawn over its six
faces. The symbols are dot, circle, triangle, square,
cross and arrow. Three different positions of the
cube are shown in the figures.
Which symbol is opposite the Square ?
(A) Cross
(B) Triangle
(C) Arrow
(D) Circle
(E) Not attempted

GET IT ON

A

60. Waﬁtﬁ%ﬁﬁqm%ﬁ%m%%ﬂﬁ?
T (A, B 31l C) o1 It 2
¥ A 3 B U A w4 62 100 B
T T |
wﬁqnamcqaﬁmwmmsaznwoﬁéz
AT Gl E | &
usﬁ:tAaﬂtha(ﬁ)mwmzm%;zsq%ﬁ
looﬁﬁza'-naﬁf’r%’l
HﬁmﬂqAaﬁWﬁt a3 100 fsie 9 &
feramr Ty @ 2

.

(A) 16/3%2 O
(B) 5% <|
(C) 40/9 ¥
(D) 4-5%2
(E) SOl 37 =Imedt
6. ARS@1=60;12@ 8=200;16@2=180 ;7
16 @ 10=hTH TS ?
(A) 260 J
(B) 10 Q
©) 32 o~
D) 9 i sz
(E) aﬂtaﬁfﬁmmﬁ% BEs

T 5 ¥ B HeTeh! TR S-S ¥l 7 §U

62.

& 1w & - fiig, 9, B, =, W ot i |
wﬁﬁﬁmﬁmwm@ﬁmﬂﬁ?ﬂ%
gl
1} & faradia -a1 Wt & ?
(A) FrE X
(B) Fryw g
(C) dr O
(D) gw <]
(E) 3atel aar=med
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63.

64,

65.

66.

Under which Act was the Trust Deed of
PM CARES Fund registered ?

(A) Registration Act, 1908

(B) Companies Act, 2013

(©) Indian Tmsts"f{él. 1882

(D) Societies Registration Act, 1860

(E) Not attempted:™

1

L
Vi

If a country’s Gtﬁitj coefficient incrcases after
globalization, what dLes it indicate ?

(A) Income inequa'lﬂy has worsened

(B) Higher international trade occurred

(C) Poverty levels have decreased uniformly

(D) There is no change in income distribution
(E) Not attempted

Which of the following cities was awarded the
2024 “Green Capital of Asia” title ?

(A) Seoul

(B) Tokyo N

(C) Delhi oS

(D) Singapore {}

(E) Not attempte® =2

Which of the foll‘cﬁ'ing statements about India’s
first bullet train project are correct ?

I. It will have 12 stations including Surat,
Vadodara and Sabarmati.

II. It includes the construction of India’s first
undersea rail tunnel.

III. Itis expectcd@ reduce travel time between
Mumbai and:}\hmedabad to under three

hours. D\D

IV. It is being gxecuted with financial and
technical assce from Japan.

Options :

(A) 1, TandIII ol% (B) IL, M and IV only
(©) I 1L 1Il and D) .I and I only

(E) Not attempted

__-—’—j-__
+18 +

o)

63.

64,

65.

66.

o ¥4 G i 7 G e At F @
it ol 78 oft 2

(A) dsfrertor siferfaam, 1908

(B) @ut arfafm, 2013

(C) WreltT 2 arfufram, 1882

(D) HraTget gsfieror stfufiam, 1860

(E) I & & =med

afe Avefraror & are foret 29r ot fift ToTieR g |
A1 7 T E T 2 2

(A) 3T STEHT AT o sIgaT &t ST

(B) = AR SATYH ST

(C) T & T H e w9 Y FHT AT

(D) 7 foawor & =vd aftads T e

(B) I <A1 wed
Frafofed & & fra st #1 2024 <o # &
TS &1 Raame fear mar 2

(A) f&eter .

(B) 2N

(©) feeeht

(D) R

(B) IoUHEI =R =2

T < et st 3 AR i e
THRA-AFH g 8 2

1. za g, 9eieU 3R qreEd afed 12 9
B |

II. 369 VIR i veelt % F Fi= 6t @ g F
fmtor mfier 2 1

[ 380 Yord ofit STewamee & siie I 1 6
TR AR a A B H IR 8 |

IV, 38 STu ¥ sty it a1l gemar & @
rmfaa s @I R |

faeea

(A) ¥Fa@Luafm  (B) ¥ L USRIV

© LILmmskry (D) Faw 3

(B) et 3 =y
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67. Which of the following phenomena best explains |67, F=fafaa # @ =t sfoen 9 s #
the appearance of a blue sky ? Iufeafy =1 gady sr=at e 9 auadt ® 2
(A) Reflection of ocean colour (A) WETEmR % 17 =7 gfafea
(B) Curvature of the Earth (B) qeeft it azpar / |
(C) Absorption of ultraviolet rays (® qnﬁn-—ﬁ%ﬁmﬁmmmﬂw
(D) Wavelength-based scattering of light (D) WERTET =T qieeA- :mm&agzﬁuh
(E) Not attempted (E) W?ﬁﬁﬂl‘a’f’f o
®
_ Q)
68. India successfully hosted which major|68. R 2024 F fobe Qi fave e 1
international summit in 2024 ? Ww ﬁg]
(A) G20 Summit (A) 20 (G20) ferat are
(B) SAARC Summit (B) &1 (SAARC) @t g-e
(C) BIMSTEC Summit (C) forwds (BIMSTEC) firat aeer
(D) SCO Summit (D) TR (SCO) Rrayaried
ool
(E) Not attempted (E) mqﬁﬁq‘[aﬁﬁ’ CJ %%ﬁ
a2
P2
6. Which of the following policies aims at|69, frifitaa &= =fife o st e & 0
transforming rural economy through women-led et TEH-GgEar W@k(SHG) & Arerd §
self-help groups (SHGs) ? I7fIaET ) ST € '?
(A) DAY-NRLM (A) SITATE-TIARTAH l)AY-NRLM)
(B) PM Gati Shakti (B) e e wfR (PM Gati Shakti)
(C) e-SHRAM (C) §-7 (e-SHRAM)
(D) PM-KUSUM (D) roA-FgH (PM-KUSUM)
(E) Not attempted (E) IR A AT =TEd \7
Q
a5
70. Statement I : The Prime Meridian passes through | 70. e [ : ST W& [ (@) S e
Greenwich. Tt 2 S
' Statement II ; Tt is at 0° latitude. e 1l : T 0° RN T
(A) Statement I is correct, but Statement IT is (A) FYT [ TET 8, %Ejﬂ [Tea e |
incorrect. I (B) o [ 3T e [ 3T e & |
(B) Poth Statement 1 and Stateme - o 1 aftc e 11 3
incorrect.
(C) Both Statement I and Statement Il are correct. (D) Wlmg,ﬁ%qmllﬂﬁﬁl
(D) Statement I is incorrect, but Statement I is (E) IR &l 1 =ed
correct.
(E) Not attempted _—
D +19 +
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71.

72

.

73.

74.

75.

/

A number is increased by 20%, then decreased by | 71.

30%, and finally increased again by 50%. What is
the net percentage change in the number from its

original value ? (:]

(A) 26% () B) 16%

(C) 0% 32 (D) 10% mym
(E) Not attcmplcd{} l‘ﬁ%

A sum of moncy,@?wesled at a certain rate of|72.

simple interest for(S)years, yields T 1,200. If the
same sum were ir@ested at the same rate of
compound interest (compounded annually) for
2 years, it would yield T 840, What is the principal
sum and the rate of interest ?
(A) Principal : 4,000, Rate : 10%
(B) Principal : T 4,<2\60, Rate : 9-5%
(C) Principal : T 3:800, Rate : 10-5%
(D) Principal : T 33600, Rate : 11-11%
(E) Not attempte(ﬂj

@

A hemisphere and @e have equal volumes. If the

height of the cone is-h and radius of both is r, find
hin terms of r.

(A) 312 (B) 41/3

(C) 2r (D) r

(E) Not attempted

If a train is 180 ng and crosses a man in
9 seconds, then how tong does it take for it to cross
a 280 m long platfou&?
(A) 18 seconds
(C) 23 seconds

(B) 21 seconds
(D) 27 seconds

Not attempted
(BE) @)

Selling Price of two if€ms is ¥ 120 each. One sold|75.

at 25% profit, the other at 25% loss. What is the
net profit or loss for the shopkeeper ?

(A) T16loss (B) T25loss

(C) No profit no loss (D) T16 profit

(E) Not attempted

73.

74.

+ 20+

pE

qmimﬁzu%ﬁq@aﬁraﬁ%,ﬁﬂﬂ%aﬁm
£ st 2, 3 o & T 50% H afe S )
den § T U UE @ Y@ giwrd gfted
87

(A) 26% (B) 16%
(C) 0% (D) 10%
(BE) I & 2T =med

UF TAORT Y G e i wh A @ W
3 gt 3 fore Fire e Tz 1,200 TTe NG ¥ | afe I
SR Y =Rl S S T S (AT B9
) W 2 a9 % fou fEw fEn S
% 840 STH €T | & SR (e S 2Tt & F
g2

(A) HETEH : T 4,000, 3T : 10%

(B) HeTH : % 4,200, 3T: 9:5%

(C) ¥t : 3,800, X : 10-5%

(D) HeMH : 3,600, 3T: 11-11%

(B) I &1 9med

Teh STHTIT S I o AT JUeR & | AfS i &
FAEhe AN A B 8, A r F € H h I
it |

(A) 312 - (B) 4r/3
©) 2r D) r
(B) WA S =ea

Al 180 et sl termrel, U 21reri i 9 Fhs § U

FAT B, O IW 280 Hiex Tt @iewTd # IR FE §
foraaT g =i 2

(A) 18 Use (B) 21 ¥hs
(C) 23 ¥hs (D) 27 ¥she
(B) S TEt 3 =med =3

A et & it el ot fesr (e T 120 % | T R
25% TAT T =<1 TR, G ol 25% BT T | 1A

1 Y T A B FTR 2

(A) T16F TN (B) T25Hraty
(C) TAMAEN (D) T16H TN
(E) TR TE a1 =R

Google Play
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76. Despite the thunderstorm, the old man remained | 80.

seated on the porch, staring into the distance.
Rain lashed the ground around him, but he didn’t
flinch. His eyes, cloudy with age, fixed on
something far beyond the horizon — something
only he could see. The storm was loud, but
whatever echoed in his mind was louder.

What can be inferred about the man ?

(A) He was afraid.

(B) He was deep in thought.
(C) He hated the rain.

(D) He didn’t notice the storm.
(E) Not attempted

81.

82,

77. Which of the follow best describes the phrase —
“Throw in the towel” ?
(A) To win
(B) To clean up
(C).To give up
(D) To celebrate
(E) Not attempted

83.

78. In which sequence should the following
sentences be arranged to form a cohesive
passage ?

. His parents encouraged him to try again.

II. He failed the mathematics test. 84.

III. He studied hard for the next one.

IV. Eventually, he passed with good marks.
Options :

(A) L 1L 111, IV

(B) I, 11, 1V, 1

© 1,11, 1, 1v

D) I, 1, 111, TV

(E) Not attempted

85.

79. Fill in the blank with the correct tense :
By the time we arrived, the show

(A) will start (B) starts
(C) has started (D) had started
(E) Not attempted

—————

GET IT ON
A Google Play

Rewrite the following sentence in a passive voice,
Someone is watching us.

(A) We are watched by someone.

(B) We were being watched by someone.
(C) We being watched by someone.

(D) We are being waighed by someone.

(E) Not attempted ( )

Which of the followiirg is correctly spelled ?
(A) Inevitable v (B) Inevittable

(C) Inevatable (i) (D) Inevateble

(E) Not attempted ()

Which of the folloWL/[lg describes a person who
speaks many languages ? :

(A) Bilingual

(B) Monoglot

(C) Polyglot

(D) Translator
(E) Not attempted

{"'»‘
Q

Change the follo;I’ng sentence into Direct
Speech : ol

She asked me if I “;aé fine.

(A) She said, “Are g’ou fine 7

(B) She asked, “Was | fine 2

() She asked, “Am I fine ?”

(D) She asked me, “Are you fine ?”

(E) Not attempted

What is the antony-l%%f “Ambiguous” ?

(A) Obscure ‘-)

(B) Unclear G
(C) Definite 1h
(D) Vague ©)

(E) Not attempted ( )

-

2

Identify which part 0][ the following sentence has
an error.

If I was you / I would not/
¢y (ID)
ignore the warning /  at any cost.
(1) (Iv)
A1 (B) 111
© 1 D) 1v

(E) Not attempted
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87.
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89,

90.

91.

92.

93.
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TR AR ST 35 o 3waes g &

(A) =9 o 37 37 (B) @d w1

(C) @1 7 fiyemr (DY F%5 R g afern
(E) ST 7€ <1 =y
Freffias vt #f & e T 2 -

(A) wife (B) emaifen

(C) SR (D) e

(E) 3= 3 =mea R
P g it & ‘ -
y it wméu?w.@naa?

=~

(A) 37 — I, 319 — g “{i}
(B) SUTE — TS, F92 - Hiam
(C) F99T — e F0T — T ()
(QY4S — &4T; 91aT — Sufay <]
(E) I &1 e =mea
Frafofias § & srorft g garg 2 -
(A) 1= (B) SIH-w
(Cy e (D) FEfT
(E) SR et 3T =T O
freafafaad @ stdr g2 52
(A) feft (8 aeam  (C) e (D) ad
(E) et 31 =red %

iR 3158 il Gh-Rredg ;-
(A) I + TR (B) I +
(C) TH + 3 (D) I +=T
(E) 3aT &l &A1 =mad
Freferfias # & arfrerrt weg € : C)

EiE
T
=

94.

95.

96.

97.

98.

99.

100.

GET ITON
A Google Play

e feed 4 & S 1 T
wad @@ (€)M (D) T
(E)mﬂﬁaﬂmﬁ
ﬁm%ﬁgaﬁ%mmwwm:
(A)sﬁaanﬁraﬁrmtﬁﬁml

(BB) STTSTeheT WeeTATL 1 a1 T € |
(c)gﬁﬁﬁﬁmaﬁrmﬂﬁhﬁml

(D) 35 T Hehed ot ?

(E) 3t &l a1 =med

frefeftaa & & S-a7 o7 & IR T 9T i 80y
T

(A) fererrmeles ar
(C) Sromeie TRy
(B) I aAr=med

Frefafga & @ aeam Tt FEE B -

(A) Frgur, g, wft, e

(B) =™, e, oo, Fwer

(C) Tg9, R, 7w, g3

(D) F, 3921, 7, 4w By
(E) I8t 3T = msh

ﬁmﬁf@aﬁﬁrwaﬁ?ﬁ%ﬁm{gmw
EIE

ATIL B3
(E) St S =meq

(B) HegTde At
(D) ferergaas ae

©O%T DEy

Frffad ot § & Sa-ar Bo a2 -
@& B Ot DT
(E) I 7l 1 9med

R qEe Y Seseht, =it e T |

T W WER Y i, e e we )
S it o SRR R

(A) I8 (B) wiy

(C) 3= (D) I

(E) 3% &l 31 =t
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